

## SOME CONNECTIONS BETWEEN VARIOUS SUBCLASSES OF PLANAR HARMONIC MAPPINGS INVOLVING POISSON DISTRIBUTION SERIES

SAURABH PORWAL AND DIVESH SRIVASTAVA

ABSTRACT. In the present paper, we established connections between various subclasses of harmonic univalent functions by applying certain convolution operator involving Poisson distribution series. To be more precise, we investigate such connections with harmonic  $\gamma$ -uniformly convex and harmonic  $\gamma$ -uniformly starlike mappings in the plane.

### 1. INTRODUCTION

Let  $A$  denote the class of functions  $f$  of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (1.1)$$

which are analytic in the open unit disk  $U = \{z : z \in \mathbb{C} \text{ and } |z| < 1\}$  and satisfy the normalization condition  $f(0) = f'(0) - 1 = 0$ .

Let  $H$  be the family of all harmonic functions of the form  $f = h + \bar{g}$ , where

$$h(z) = z + \sum_{n=2}^{\infty} A_n z^n, \quad g(z) = \sum_{n=1}^{\infty} B_n z^n, \quad |B_1| < 1, \quad (z \in U), \quad (1.2)$$

are in the class  $A$ .

Denote by  $S_H$  the subclass of  $H$  that are univalent and sense-preserving in  $U$ . We also let the subclass  $S_H^0$  of  $S_H$  as

$$S_H^0 = \{f = h + \bar{g} \in S_H : g'(0) = B_1 = 0\}.$$

The classes  $S_H^0$  and  $S_H$  were first studied in [6]. Also, we let  $K_H^0$ ,  $S_H^{*,0}$  and  $C_H^0$  denote the subclasses of  $S_H^0$  of harmonic functions which are, respectively, convex, starlike and close-to-convex in  $U$ . For definitions and properties of these classes, one may refer to ([1], [6]) or [7].

---

2010 *Mathematics Subject Classification.* 30C45.

*Key words and phrases.* Harmonic, univalent functions, harmonic starlike, harmonic convex, harmonic  $\gamma$ -uniformly convex functions, harmonic  $\gamma$ -uniformly starlike functions, Poisson distribution series.

Submitted Jan. 28, 2017.

For  $0 \leq \beta < 1$ , let

$$N_H(\beta) = \left\{ f \in H : \Re \left( \frac{f'(z)}{z'} \right) \geq \beta, z = re^{i\theta} \in U \right\},$$

$$R_H(\beta) = \left\{ f \in H : \Re \left( \frac{f''(z)}{z''} \right) \geq \beta, z = re^{i\theta} \in U \right\},$$

where

$$z' = \frac{\partial}{\partial \theta} (z = re^{i\theta}), \quad z'' = \frac{\partial}{\partial \theta} (z'), \quad f'(z) = \frac{\partial}{\partial \theta} f(re^{i\theta}), \quad f''(z) = \frac{\partial}{\partial \theta} (f'(z)).$$

Define

$$TN_H(\beta) \equiv N_H(\beta) \cap T \quad \text{and} \quad TR_H(\beta) \equiv R_H(\beta) \cap T,$$

where  $T$  consists of the functions  $f = h + \bar{g}$  in  $S_H$  so that  $h$  and  $g$  are of the form

$$h(z) = z - \sum_{n=2}^{\infty} |A_n| z^n, \quad g(z) = \sum_{n=1}^{\infty} |B_n| z^n. \quad (1.3)$$

The classes  $T$ ,  $N_H(\beta)$ ,  $TN_H(\beta)$ ,  $R_H(\beta)$  and  $TR_H(\beta)$  were initially introduced and studied, respectively, in ([21], [4], [4], [5] and [5]).

Let  $HUC(\gamma, \alpha)$  be a subclass of the functions  $f = h + \bar{g}$  in  $H$  which satisfy the condition

$$\Re \left\{ 1 + (1 + \gamma e^{i\eta}) \frac{z^2 h''(z) + \overline{2zg'(z) + z^2 g''(z)}}{zh'(z) - zg'(z)} \right\} \geq \alpha,$$

for some  $\gamma$  ( $0 \leq \gamma < \infty$ ),  $\alpha$  ( $0 \leq \alpha < 1$ ),  $\eta \in R$  and  $z \in U$ .

Define  $THUC(\gamma, \alpha) \equiv HUC(\gamma, \alpha) \cap T$ .

A mapping in  $HUC(\gamma, \alpha)$  or  $THUC(\gamma, \alpha)$  is called  $\gamma$ -uniformly harmonic convex in  $U$ . These classes were studied in by Kim *et al.* in [9]. For  $g \equiv 0$ ,  $\gamma = 1$  and  $\alpha = 0$  the class  $HUC(\gamma, \alpha)$  reduces to the class  $UCV$  of analytic uniformly convex functions studied by Goodman [8].

Analogues to  $HUC(\gamma, \alpha)$  is the class  $HUS^*(\gamma, \alpha)$  consisting of harmonic functions  $f = h + \bar{g}$  in  $H$  which satisfy the condition

$$\Re \left\{ \frac{zf'(z)}{z'f(z)} - \alpha \right\} \geq \gamma \left| \frac{zf'(z)}{z'f(z)} - 1 \right|$$

for some  $\gamma$  ( $0 \leq \gamma < \infty$ ),  $\alpha$  ( $0 \leq \alpha < 1$ ) and  $z \in U$ . Also define  $THUS^*(\gamma, \alpha) \equiv HUS^*(\gamma, \alpha) \cap T$ . The mappings in  $HUS^*(\gamma, \alpha)$  or  $THUS^*(\gamma, \alpha)$  are called  $\gamma$ -harmonic uniformly starlike in  $U$ . For  $\alpha = 0$ , these classes were studied in [19]. For  $g \equiv 0$ ,  $\gamma = 1$  and  $\alpha = 0$ ,  $HUS^*(\gamma, \alpha)$  reduces to the family  $US^*$  of analytic uniformly starlike functions defined by Rønning [11].

Very recently, Porwal [12] introduced a Poisson distribution series as

$$K(m, z) = z + \sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-1)!} e^{-m} z^n.$$

Now, for  $m_1, m_2 > 0$ , we introduce the operator  $\Omega(m_1, m_2)$  for  $f(z) \in S_H$  as

$$\Omega(m_1, m_2) f(z) = K(m_1, z) * h(z) + \overline{K(m_2, z) * g(z)} = H(z) + \overline{G(z)},$$

where

$$H(z) = z + \sum_{n=2}^{\infty} \frac{m_1^{n-1}}{(n-1)!} e^{-m_1} A_n z^n, \quad G(z) = B_1 z + \sum_{n=2}^{\infty} \frac{m_2^{n-1}}{(n-1)!} e^{-m_2} B_n z^n. \quad (1.4)$$

for any function  $f = h + \bar{g}$  in  $H$ .

Throughout this paper, we will frequently use the notation

$$\Omega(f) = \Omega(m_1, m_2)f.$$

Motivated by results on connections between various subclasses of analytic and harmonic univalent functions by using hypergeometric functions and generalized Bessel functions (see [2], [11], [13]-[18] and [20]), we establish a number of connections between the classes  $HUC(\gamma, \alpha)$ ,  $HUS^*(\gamma, \alpha)$ ,  $K_H^0$ ,  $S_H^{*,0}$ ,  $C_H^0$ ,  $N_H(\beta)$  and  $R_H(\beta)$  by applying the convolution operator  $\Omega$ .

## 2. CONNECTIONS WITH HARMONIC UNIFORMLY CONVEX MAPPINGS

In order to establish connections between harmonic convex mappings and harmonic uniformly convex mappings, we need following results in Lemma 2.1 [6] and Lemma 2.2 [9].

**Lemma 2.1.** *If  $f = h + \bar{g} \in K_H^0$  where  $h$  and  $g$  are given by (1.2) with  $B_1 = 0$ , then*

$$|A_n| \leq \frac{n+1}{2}, \quad |B_n| \leq \frac{n-1}{2}.$$

**Lemma 2.2.** *Let  $f = h + \bar{g}$  be given by (1.2). If  $0 \leq \gamma < \infty$ ,  $0 \leq \alpha < 1$  and*

$$\sum_{n=2}^{\infty} n \{n(\gamma+1) - (\gamma+\alpha)\} |A_n| + \sum_{n=1}^{\infty} n \{n(\gamma+1) + (\gamma+\alpha)\} |B_n| \leq 1 - \alpha, \quad (2.1)$$

*then  $f$  is harmonic, sense-preserving univalent functions in  $U$  and  $f \in HUC(\gamma, \alpha)$ .*

*Remark 2.1.* In [9], it is also shown that  $f = h + \bar{g}$  given by (1.3) is in the family  $THUC(\gamma, \alpha)$ , if and only if the coefficient condition (2.1) holds. Moreover, if  $f \in THUC(\gamma, \alpha)$ , then

$$|A_n| \leq \frac{1-\alpha}{n \{n(\gamma+1) - (\gamma+\alpha)\}}, \quad n \geq 2,$$

$$|B_n| \leq \frac{1-\alpha}{n \{n(\gamma+1) + (\gamma+\alpha)\}}, \quad n \geq 1.$$

**Theorem 2.3.** *If  $0 \leq \alpha < 1$ ,  $0 \leq \gamma < \infty$ ,  $m_1, m_2 > 0$  and the inequality*

$$e^{m_1} [(\gamma+1)m_1^3 + (6\gamma+7-\alpha)m_1^2 + (6\gamma+10-4\alpha)m_1 + (\gamma+1)m_2^3 + (6\gamma+5+\alpha)m_2^2 + (6\gamma+4+2\alpha)m_2] \leq 2(1-\alpha),$$

*is satisfied then  $\Omega(K_H^0) \subset HUC(\gamma, \alpha)$ .*

*Proof.* Let  $f = h + \bar{g} \in K_H^0$  where  $h$  and  $g$  are of the form (1.2) with  $B_1 = 0$ . We need to show that  $\Omega(f) = H + \bar{G} \in HUC(\gamma, \alpha)$ , where  $H$  and  $G$  defined by (1.4) with  $B_1 = 0$  are analytic functions in  $U$ .

In view of Lemma 2.2, we need to prove that

$$P_1 \leq 1 - \alpha,$$

where

$$\begin{aligned}
P_1 &= \sum_{n=2}^{\infty} n \{n(\gamma+1) - (\gamma+\alpha)\} \left| \frac{e^{-m_1} m_1^{n-1}}{(n-1)!} A_n \right| \\
&\quad + \sum_{n=2}^{\infty} n \{n(\gamma+1) + (\gamma+\alpha)\} \left| \frac{e^{-m_2} m_2^{n-1}}{(n-1)!} B_n \right| \\
&\leq \frac{1}{2} \left[ \sum_{n=2}^{\infty} n(n+1) \{n(\gamma+1) - (\gamma+\alpha)\} \frac{e^{-m_1} m_1^{n-1}}{(n-1)!} \right. \\
&\quad \left. + \sum_{n=2}^{\infty} n(n-1) \{n(\gamma+1) + (\gamma+\alpha)\} \frac{e^{-m_2} m_2^{n-1}}{(n-1)!} \right] \\
&= \frac{1}{2} \left[ \sum_{n=2}^{\infty} [(\gamma+1)(n-1)(n-2)(n-3) + (6\gamma+7-\alpha)(n-1)(n-2) + (6\gamma+10-4\alpha)(n-1) \right. \\
&\quad \left. + 2(1-\alpha)] \frac{e^{-m_1} m_1^{n-1}}{(n-1)!} \right. \\
&\quad \left. + \sum_{n=2}^{\infty} [(\gamma+1)(n-2)(n-3) + (6\gamma+5+\alpha)(n-2) + (6\gamma+4+2\alpha)] \frac{e^{-m_2} m_2^{n-1}}{(n-2)!} \right] \\
&= \frac{1}{2} \left[ (\gamma+1) \sum_{n=2}^{\infty} \frac{e^{-m_1} m_1^{n-1}}{(n-4)!} + (6\gamma+7-\alpha) \sum_{n=2}^{\infty} \frac{e^{-m_1} m_1^{n-1}}{(n-3)!} \right. \\
&\quad \left. + (6\gamma+10-4\alpha) \sum_{n=2}^{\infty} \frac{e^{-m_1} m_1^{n-1}}{(n-2)!} + 2(1-\alpha) \sum_{n=2}^{\infty} \frac{e^{-m_1} m_1^{n-1}}{(n-1)!} \right] \\
&\quad + (\gamma+1) \sum_{n=2}^{\infty} \frac{e^{-m_2} m_2^{n-1}}{(n-4)!} + (6\gamma+5+\alpha) \sum_{n=2}^{\infty} \frac{e^{-m_2} m_2^{n-1}}{(n-3)!} + (6\gamma+4+2\alpha) \sum_{n=2}^{\infty} \frac{e^{-m_2} m_2^{n-1}}{(n-2)!} \\
&= \frac{1}{2} [(\gamma+1)m_1^3 + (6\gamma+7-\alpha)m_1^2 + (6\gamma+10-4\alpha)m_1 + 2(1-\alpha)(1-e^{-m_1}) \\
&\quad + (\gamma+1)m_2^3 + (6\gamma+5+\alpha)m_2^2 + (6\gamma+4+2\alpha)m_2] \\
&\leq (1-\alpha),
\end{aligned}$$

by given hypothesis.

This completes the proof of Theorem 2.3.  $\square$

In order to determine connection between  $TN_H(\beta)$  and  $HUC(\gamma, \alpha)$ , we require the following result obtained in [4].

**Lemma 2.4.** *Let  $f = h + \bar{g}$  where  $h$  and  $g$  are given by (1.3) and suppose that  $0 \leq \beta < 1$ , then*

$$f \in TN_H(\beta) \Leftrightarrow \sum_{n=2}^{\infty} n |A_n| + \sum_{n=1}^{\infty} n |B_n| \leq 1 - \beta.$$

*Remark 2.2.* If  $f \in TN_H(\beta)$ , then

$$\begin{aligned}
|A_n| &\leq \frac{1-\beta}{n}, \quad n \geq 2, \\
|B_n| &\leq \frac{1-\beta}{n}, \quad n \geq 1.
\end{aligned}$$

**Theorem 2.5.** *If  $0 \leq \beta < 1$ ,  $0 \leq \gamma < \infty$ ,  $m_1, m_2 > 0$  and the inequality*

$$(1-\beta) [(\gamma+1)m_1 + (1-\alpha)(1-e^{-m_1}) + (\gamma+1)m_2 + (2\gamma+1+\alpha)(1-e^{-m_2})] \leq 1-\alpha-(2\gamma+\alpha+1)|B_1|$$

*is satisfied, then*

$$\Omega(TN_H(\beta)) \subset HUC(\gamma, \alpha).$$

*Proof.* Let  $f = h + \bar{g} \in TN_H(\beta)$  where  $h$  and  $g$  are given by (1.3). In view of Lemma 2.2, it is enough to show that  $P_2 \leq 1 - \alpha$ , where

$$P_2 = \sum_{n=2}^{\infty} n \{n(\gamma+1) - (\gamma+\alpha)\} \left| \frac{e^{-m_1} m_1^{n-1}}{(n-1)!} A_n \right| \\ + (2\gamma + \alpha + 1) |B_1| + \sum_{n=2}^{\infty} n \{n(\gamma+1) + (\gamma+\alpha)\} \left| \frac{e^{-m_2} m_2^{n-1}}{(n-1)!} B_n \right|.$$

Using Remark 2.2, it follows that

$$P_2 \leq (1-\beta) \left[ \sum_{n=2}^{\infty} \{n(\gamma+1) - (\gamma+\alpha)\} \frac{e^{-m_1} m_1^{n-1}}{(n-1)!} \right. \\ \left. + \sum_{n=2}^{\infty} \{n(\gamma+1) + (\gamma+\alpha)\} \frac{e^{-m_2} m_2^{n-1}}{(n-1)!} \right] + (2\gamma + \alpha + 1) |B_1| \\ = (1-\beta) \left[ \sum_{n=2}^{\infty} [(\gamma+1)(n-1) + (1-\alpha)] \frac{e^{-m_1} m_1^{n-1}}{(n-1)!} \right. \\ \left. + \sum_{n=2}^{\infty} [(\gamma+1)(n-1) + (2\gamma+1+\alpha)] \frac{e^{-m_2} m_2^{n-1}}{(n-1)!} \right] + (2\gamma + \alpha + 1) |B_1| \\ = (1-\beta) [(\gamma+1)m_1 + (1-\alpha)(1-e^{-m_1}) + (\gamma+1)m_2 + (2\gamma+1+\alpha)(1-e^{-m_2})] \\ + (2\gamma + \alpha + 1) |B_1| \\ \leq 1 - \alpha$$

by the given hypothesis, this completes the proof of Theorem 2.5.  $\square$

For the relationship between the classes  $TR_H(\beta)$  and  $HUC(\gamma, \alpha)$ , we shall require the following lemma which is due to [5].

**Lemma 2.6.** *Let  $f = h + \bar{g}$  where  $h$  and  $g$  are given by (1.3), and suppose that  $0 \leq \beta < 1$ . Then*

$$f \in TR_H(\beta) \Leftrightarrow \sum_{n=2}^{\infty} n^2 |A_n| + \sum_{n=1}^{\infty} n^2 |B_n| \leq 1 - \beta.$$

*Remark 2.3.* If  $f = h + \bar{g} \in TR_H(\beta)$  where  $h$  and  $g$  are given by (1.3), then

$$|A_n| \leq \frac{1-\beta}{n^2}, \quad n \geq 2$$

and

$$|B_n| \leq \frac{1-\beta}{n^2}, \quad n \geq 1.$$

**Theorem 2.7.** *If  $m_1, m_2 > 0$ ,  $0 \leq \beta < 1$ ,  $\gamma \geq 0$  and the inequality*

$$\begin{aligned} & (1 - \beta) \left[ (\gamma + 1) (1 - e^{-m_1}) - \frac{(\gamma + \alpha)}{m_1} (1 - e^{-m_1} - m_1 e^{-m_1}) \right. \\ & \quad \left. + (\gamma + 1) (1 - e^{-m_2}) + \frac{(\gamma + \alpha)}{m_2} (1 - e^{-m_2} - m_2 e^{-m_2}) \right] \\ & \leq 1 - \alpha - (2\gamma + \alpha + 1) |B_1| \end{aligned}$$

*is satisfied then*

$$\Omega(TR_H(\beta)) \subset HUC(\gamma, \alpha).$$

*Proof.* Making use of Lemma 2.2 and the definition of  $P_2$  in Theorem 2.5, we need only to prove that  $P_2 \leq 1 - \alpha$ . Using Remark 2.3, it follows that

$$\begin{aligned} P_2 &= \sum_{n=2}^{\infty} n \{n(\gamma + 1) - (\gamma + \alpha)\} \left| \frac{e^{-m_1} m_1^{n-1}}{(n-1)!} A_n \right| \\ & \quad + (2\gamma + \alpha + 1) |B_1| + \sum_{n=2}^{\infty} n \{n(\gamma + 1) + (\gamma + \alpha)\} \left| \frac{e^{-m_2} m_2^{n-1}}{(n-1)!} B_n \right| \\ & \leq (1 - \beta) \left[ \sum_{n=2}^{\infty} \frac{\{n(\gamma + 1) - (\gamma + \alpha)\} e^{-m_1} m_1^{n-1}}{n (n-1)!} \right. \\ & \quad \left. + \sum_{n=2}^{\infty} \frac{\{n(\gamma + 1) + (\gamma + \alpha)\} e^{-m_2} m_2^{n-1}}{n (n-1)!} \right] + (2\gamma + \alpha + 1) |B_1| \\ & = (1 - \beta) \left[ \sum_{n=0}^{\infty} \left\{ (\gamma + 1) - \frac{(\gamma + \alpha)}{n+2} \right\} \frac{e^{-m_1} m_1^{n+1}}{(n+1)!} \right. \\ & \quad \left. + \sum_{n=0}^{\infty} \left\{ (\gamma + 1) + \frac{(\gamma + \alpha)}{n+2} \right\} \frac{e^{-m_2} m_2^{n+1}}{(n+1)!} \right] + (2\gamma + \alpha + 1) |B_1| \\ & = (1 - \beta) \left[ (\gamma + 1) (1 - e^{-m_1}) - \frac{(\gamma + \alpha)}{m_1} (1 - e^{-m_1} - m_1 e^{-m_1}) \right. \\ & \quad \left. + (\gamma + 1) (1 - e^{-m_2}) + \frac{(\gamma + \alpha)}{m_2} (1 - e^{-m_2} - m_2 e^{-m_2}) \right] + (2\gamma + \alpha + 1) |B_1| \\ & \leq 1 - \alpha, \end{aligned}$$

by given hypothesis. □

**Theorem 2.8.** *If  $m_1, m_2 > 0$ ,  $0 \leq \alpha < 1$ ,  $\gamma \geq 0$  and the inequality*

$$e^{-m_1} + e^{-m_2} \geq 1 + \frac{(2\gamma + \alpha + 1)}{1 - \alpha} |B_1|$$

*is satisfied, then  $\Omega(THUC(\gamma, \alpha)) \subset HUC(\gamma, \alpha)$ .*

*Proof.* By adopting the technique of the proof of Theorem 2.5, Lemma 2.2 and Remark 2.1, we obtain

$$\begin{aligned}
P_2 &\leq (1 - \alpha) \left[ \sum_{n=2}^{\infty} \frac{e^{-m_1} m_1^{n-1}}{(n-1)!} + \sum_{n=2}^{\infty} \frac{e^{-m_2} m_2^{n-1}}{(n-1)!} \right] + (2\gamma + \alpha + 1) |B_1| \\
&= (1 - \alpha) \left[ \sum_{n=0}^{\infty} \frac{e^{-m_1} m_1^{n+1}}{(n+1)!} + \sum_{n=0}^{\infty} \frac{e^{-m_2} m_2^{n+1}}{(n+1)!} \right] + (2\gamma + \alpha + 1) |B_1| \\
&= (1 - \alpha) [e^{-m_1}(e^{m_1} - 1) + e^{-m_2}(e^{m_2} - 1)] + (2\gamma + \alpha + 1) |B_1| \\
&= (1 - \alpha) [1 - e^{-m_1} + 1 - e^{-m_2}] + (2\gamma + \alpha + 1) |B_1| \\
&= (1 - \alpha) [2 - e^{-m_1} - e^{-m_2}] + (2\gamma + \alpha + 1) |B_1| \\
&\leq 1 - \alpha,
\end{aligned}$$

by the given condition and this completes the proof of the theorem.  $\square$

**Theorem 2.9.** *If  $m_1, m_2 > 0$ ,  $0 \leq \alpha < 1$ ,  $\gamma \geq 0$ , then  $\Omega(THUC(\gamma, \alpha)) \subset THUC(\gamma, \alpha)$ , if and only if*

$$e^{-m_1} + e^{-m_2} \geq 1 + \frac{(2\gamma + \alpha + 1)}{1 - \alpha} |B_1|.$$

*Proof.* The proof of the above theorem is much akin to that of Theorem 2.8. Therefore we omits the details involved.  $\square$

### 3. CONNECTIONS WITH HARMONIC UNIFORMLY STARLIKE MAPPINGS

In this section we shall look at the analogous results between various classes of planar harmonic mappings and  $HUS^*(\gamma, \alpha)$  by applying the convolution operator  $\Omega$ .

**Lemma 3.1.** *Let  $f = h + \bar{g} \in H$  be given by (1.2). If  $0 \leq \gamma < \infty$ ,  $0 \leq \alpha < 1$  and*

$$\sum_{n=2}^{\infty} \{n(\gamma + 1) - (\gamma + \alpha)\} |A_n| + \sum_{n=1}^{\infty} \{n(\gamma + 1) + (\gamma + \alpha)\} |B_n| \leq 1 - \alpha, \quad (3.1)$$

*then  $f$  is harmonic, sense-preserving univalent functions in  $U$  and  $f \in HUS^*(\gamma, \alpha)$ .*

*Remark 3.1.* The result in Lemma 3.1 is a special case of the corresponding result proved in [3]. However, for  $\gamma = 1$ , Lemma 3.1 reduces to the result found in [19].

*Remark 3.2.* In [3], it is also shown that  $f = h + \bar{g}$  given by (1.2) is in the family  $THUS^*(\gamma, \alpha)$ , if and only if the coefficient condition (3.1) holds. Moreover, if  $f \in THUS^*(\gamma, \alpha)$ , then

$$\begin{aligned}
|A_n| &\leq \frac{1 - \alpha}{\{n(\gamma + 1) - (\gamma + \alpha)\}}, \quad n \geq 2, \\
|B_n| &\leq \frac{1 - \alpha}{\{n(\gamma + 1) + (\gamma + \alpha)\}}, \quad n \geq 1.
\end{aligned}$$

Applying the Lemma 3.1 and using the techniques of the proof of following Theorem 2.3 so we only state the results.

**Theorem 3.2.** *If  $0 \leq \alpha < 1$ ,  $0 \leq \gamma < \infty$ ,  $m_1, m_2 > 0$  and the inequality*

$$e^{m_1} [(\gamma + 1)(m_1^2 + m_2^2) + (2\gamma + 3 - \alpha)m_1 + (3\gamma + 2 + \alpha)m_2] \leq 2(1 - \alpha)$$

*is satisfied then  $\Omega(K_H^0) \subset HUS^*(\gamma, \alpha)$ .*

Analogous to Theorem 3.2, we next find connections of the classes  $S_H^{*,0}$ ,  $C_H^0$  with  $HUS^*(\gamma, \alpha)$ . However, we first need the following result which may be found in [1] or [7].

**Lemma 3.3.** *If  $f = h + \bar{g} \in S_H^{*,0}$  or  $C_H^0$  with  $h$  and  $g$  as given by (1.2) with  $B_1 = 0$ , then*

$$|A_n| \leq \frac{(2n+1)(n+1)}{6}, \quad |B_n| \leq \frac{(2n-1)(n-1)}{6}.$$

**Theorem 3.4.** *If  $0 \leq \alpha < 1$ ,  $0 \leq \gamma < \infty$  and  $m_1, m_2 > 0$  and the inequality*

$$e^{m_1} \left[ 2(\gamma+1)(m_1^3 + m_2^3) + (13\gamma - 2\alpha + 15)m_1^2 + (15\gamma + 9\alpha - 24)m_1 + (11\gamma + 2\alpha + 9)m_2^2 + (9\gamma + 3\alpha + 6)m_2 \right] \leq 6(1-\alpha)$$

*is satisfied then  $\Omega(S_H^{*,0}) \subset HUS^*(\gamma, \alpha)$  and  $\Omega(C_H^0) \subset HUS^*(\gamma, \alpha)$ .*

**Theorem 3.5.** *If all the restrictions and coefficient condition in Theorem 2.7 are satisfied then  $\Omega(TN_H(\beta)) \subset HUS^*(\gamma, \alpha)$ .*

Analogues to Theorem 2.8, we only state the following result.

**Theorem 3.6.** *If all the restrictions and coefficient condition in Theorem 2.8 are satisfied then  $\Omega(THUS^*(\gamma, \alpha)) \subset HUS^*(\gamma, \alpha)$ .*

#### REFERENCES

- [1] O.P. Ahuja, Planar harmonic univalent and related mappings, J. Inequal. Pure Appl. Math., **6** (4), Art. 122, 1-18, 2005.
- [2] O.P. Ahuja, Connections between various subclasses of planar harmonic mappings involving hypergeometric functions, Appl. Math. Comput., **198** (1), 305-316, 2008.
- [3] O.P. Ahuja, R. Aghalary and S.B. Joshi, Harmonic univalent functions associated with  $k$ -uniformly starlike functions, Math. Sci. Res. J., **9**(1),9-17, 2005.
- [4] O.P. Ahuja and J.M. Jahangiri, Noshiro-type harmonic univalent functions, Sci. Math. Jpn., **6** (2), 253-259, 2002.
- [5] O.P. Ahuja and J.M. Jahangiri, A subclass of harmonic univalent functions, J. Nat. Geom., **20**(1-2), 45-56, 2001.
- [6] J. Clunie and T Sheil-Small, Harmonic univalent functions, Ann. Acad. Sci. Fen. Series A.I. Math., **9**, 3-25, 1984.
- [7] P. Duren, Harmonic Mappings in the Plane, Cambridge Tracts in Mathematics, Vol.156, Cambridge University Press, Cambridge, 2004.
- [8] A.W. Goodman, On uniformly convex functions, Ann. Polon. Math., **56**, 87-92, 1991.
- [9] Y.C. Kim, J.M. Jahangiri and J.H. Choi, Certain convex harmonic functions, Int. J. Math. Math. Sci., **29**(8), 459-465, 2002.
- [10] S. Owa and H.M. Srivastava, Univalent and starlike generalized hypergeometric functions, Canad. J. Math., **39**, 1057-1077, 1987.
- [11] F. Rønning, Uniformly convex functions and a corresponding class of starlike functions, Proc. Amer. Math. Soc., **118** (1), 189-196, 1993.
- [12] Saurabh Porwal, An application of a Poisson distribution series on certain analytic functions, J. Complex Anal., Vol.(2014), Art. ID 984135, 1-3.
- [13] Saurabh Porwal, Some connections between various subclasses of planar harmonic mappings involving generalized Bessel functions, Afrika Matematika, **26** (5-6), 997-1008, 2015.
- [14] Saurabh Porwal, Connections between various subclasses of planar harmonic mappings involving generalized Bessel functions, Thai J. Math., **33** (1), 33-42, 2015.
- [15] Saurabh Porwal, Mapping properties of generalized Bessel functions on some subclasses of univalent functions, Analele Universitatii Oradea Fasc. Matematica, **XX**(2), 51-60, 2013.
- [16] Saurabh Porwal and K.K. Dixit, An application of generalized Bessel functions on certain analytic functions, Acta Universitatis Matthiae Belii, **21**, 55-61, 2013.
- [17] Saurabh Porwal and K.K. Dixit, An application of hypergeometric functions on harmonic univalent functions, Bull. Math. Anal. Appl., **2**(4), 97-105, (2010).



- [18] Saurabh Porwal and K.K. Dixit, An application of certain convolution operator involving hypergeometric functions, *J. Raj. Acad. Phy. Sci.*, **9** (2), 173-186, 2010.
- [19] T. Rosy, B.A. Stephen, K.G. Subramanian and J.M. Jahangiri, Goodman-Rønning-type harmonic univalent functions, *Kyungpook Math. J.*, **41** (1) , 45-54, (2001).
- [20] A.K. Sharma, Saurabh Porwal and K.K. Dixit, Class mappings properties of convolutions involving certain univalent functions associated with hypergeometric functions, *Electronic J. Math. Anal. Appl.***1**(2), 326-333, 2013.
- [21] H. Silverman, Harmonic univalent function with negative coefficients, *J. Math. Anal. Appl.*, **220** , 283-289, 1998.

SAURABH PORWAL

DEPARTMENT OF MATHEMATICS, UIET, CSJM UNIVERSITY, KANPUR-208024, (U.P.), INDIA,  
*E-mail address:* saurabhjcb@rediffmail.com

DIVESH SRIVASTAVA

DEPARTMENT OF MATHEMATICS, INTEGRAL UNIVERSITY, LUCKNOW, (U.P.), INDIA,  
*E-mail address:* divesh2712@gmail.com